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Mizar®D R HIRIE : Emacs for Mizar

B emacs@DESKTOP-3141MHI = X
File Edit Options Buffers Tools Index Mizar Hide/Show Help
DeExBls $mB R
iThl,XBOOLE 1:3; ® Running verifier on test
Make Environment, Mizar Ver. 8.1.09 (Win32/FPC)
theorem Th3: Copyright (c) 1990-2019 Association of Mizar Users
for f being Function for x,y being object st £ = [x,y] ¢
iholds x = y Verifier based on More Strict Mizar Processor, Mizar Ver. @
proof s 8.1.09 (Win32/FPC)
let f be Function, x,y be d 2 jﬁEE73 Copyright (c) 1990-2019 Association of Mizar Users
assume < Z~ 0o Processing: c:/Users/w0411ff /aslsnssstinsmistiisi
s o o Ml %lﬁﬁi?‘rﬁzo)ﬁ,m d N
then Parser  [7321 *1]  0:00 Ir-— @Fﬁ-/\d) U >/ 7
A2: {x} in f by TARSKI:def 2; MSM [7326 *1] 0:01
AR:  {xyyl odan B by Al func{y,z -> set means Analyzer [7326 *1] 0:06
consider a,b being |- TARSKI:def 2 Checker [7326 *1] 0:33
Ad: {x} = [a,b] by A2 xjnitifx=yorx=z Time of mizaring: 0:40
A5: {a} = {a,b} by R4[ZFMISC 1:5; »o: /Users/w041ff/Desktop/test/test.miz:59:13: *321: Predic :
A6: x = {a} by A4,ZFMISC 1:4; sate symbol or "is" expected
consider c,d being object such that
AT: {x,y} = [c,d] by A3,RELAT l:def 1;
A8: x = {c} & y = {¢,d} or x = {¢,d} & y = {c} by AT7,ZFMT =
i5C 1:6;
then ¢ = a by A5,A6,ZFMISC 1:4;
hence thesis by A2,A3,A4,A5,A7,A8,FUNCT 1:def 1;
end;
theorem Thi4:
(id X) .Y e=Y
proof
let x be object:;
assume x in (id X).:Y:
then ex y being object st [y,x] in id X & y in Y by REL =
-\-—- test.miz 2% L74 (Mizar hs) | S\%*- “*compilation¥* All L15 (Compilation)
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begin :: Semilattice of type widening

registration
cluster reflexive -> complete for 1-element RelStr;
coherence;

end;

definition

let T be RelStr;

mode type of T is Element of T;
end;

definition

let T be RelStr;

attr T is Noetherian means

:Def1:

the InternalRel of T is co-well founded;
end;

registration

luster reflexive -»> complete for l-element RelStr;

definition
t T be RelStr;
yde type of T is Element of T;

end,

definition
=t T be RelStr;
attr T is Noetherian me:
:Defl:
the InternalRel of T is

end;

co-well founded;
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= testmiz X

> Users > w041ff > Desktop > test-mizar > = testmiz
or d in dom PP_not(p) & PP_not(p).d = FALSE &
d in dom PP_not(q) & PP_not(q).d = FALSE} by Def4;

A7: x in dom PP_or(PP_not(p),PP_not(q)) by A1,A3,A5,A6;
(PP_or(PP_not(p),PP_not(q))).x = FALSE by Al,A3,A5,A6,Def4;

hence thesis by A7,Def2;

end;

theorem ThiS:
x in dom p & p.x = FALSE implies PP_and(p,q).x = FALSE
proof
: x in dom p
s pox  =AaFALSE
: PP_not(p).x = TRUE by Al,A2,Def2;
: dom PP_not(p) = dom p by Def2;
: dom PP_or(PP_not(p),PP_not(q)) = {d where d is Element of
d in dom PP_not(p) & PP_not(p).d = TRUE or
d in dom PP_not(q) & PP_not(q).d = TRUE
or d in dom PP_not(p) & PP_not(p).d = FALSE &
d in dom PP_not(q) & PP_not(q).d = FALSE} by Def4;
: x in dom PP_or(PP_not(p),PP_not(q)) by Al,A3,A4,A5;
(PP_or(PP_not(p),PP_not(q))).x = TRUE by Al,A3,A4,Def4;
2 hesis by A6,Def2;
end;

theorem
x in dom q & qg.x = FALSE implies PP_and(p,q).x = FALSE by Thi9;

theorem

g 887.5124 AA-X:2 UTF-8 CRIF Mizar & 0
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Ale: for p being PartialPredicate of D holds
dom p = dom(g.p) &
for d being object holds
(Dn[d,p,TRUE] implies g.p.d = FALSE) &
(Dn[d,p,FALSE] implies g.p.d = TRUE);
let x be Element of Pr(D);

~ p = X as PartialPredicate of D by PARTFUN1:46;

thus dom(f.x) = dom p by A9
.= dom(g.x) by Ale;

e object;

a in dom(f.x);

All: a in dom p by A9;
then p.a in BOOLEAN by PARTFUN1:4;
n per cases by TARSKI:def 2;
suppose
Al2: p.a = TRUE;
h e f.x.a = FALSE by A9,Al1l
.= g.X.a by Ale,Al11,A12;




A
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= testmiz X

c: > Users > wO41ff > Desktop > test-mizar > = testmiz

end;
= p for PartialPredicate of D;

theorem
x in Pr(D) implies x is PartialPredicate of D by PARTFUN1:46;

theorem
p in Pr(D) by PARTFUN1:45;

theorem Th3:
x in dom p implies p.x = TRUE or p.x = FALSE
proof

Al: x in dom p;
A2: rng p c= BOOLEAN by RELAT_1:def 19;
P in p by Al,FUNCT_1:3;
hence t by A2,TARSKI:def 2;
end;

definition
; D;
: Dn[object,Function,object] m s $1 in dom $2 & $2.%$1 = $3;
PPnegation(D) -> Function of Pr(D),Pr(D) means
for p being PartialPredicate of D holds
dom(it.p) = dom p &
for d being object holds
(d in dom p & p.d = TRUE implies p.d = FALSE) &
(d in dom p & p.d = FALSE implies it.p.d = TRUE);

§-A:2 UTF-8 CRLF Mizar & [
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® [lamsleeping] ->|[lam] [am sleeping]
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